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hints on how to solve the
homework tonight:

limiting reactant & percent yield ] M
CAeMis+ry: http://genest.weebly.com : e
Stop in for help every day at lunch and Tues, Weds., &Thurs after school! ; rigd -

Fan, 55 o ‘_¥
After-hiours quesfion? Email me af home: cagenest@modison.k12.wi.us i s

1. (Circle answers). You calculate the theoretical yield by converting the amount
of each of the (reactants / products) into the amount of just one of the (feactants / products).

2. The reactant that gives the least product is called the

3. The formula for finding percent vield is:

The balanced reaction we used in lab:
2 Al — 2 KOHGo) + 4 H2SO4(e; — 22 H2Og, — 2 KA1(SO1)2+12H20¢) = 3 Hooe

4. Using a periodic table and the information above, fill in these conversion facjors:
> %
USQ ?@\@Jb:mi—(—t——é 1 mole of potassium hydroxide = grams
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U% %Q L Oj on Qal PCCC‘\'(.}A -—L mole of Al=_____ moles of KAI(SO,)»=12H,0
v "'b N‘: OJk % bmole of KAI&)4)2-12H20 = grams KAI(SO.),+12H,0

5. In a perfect world, if you react 808 moles of H,SO, in the above reaction how many moles of H, will you
et? 7
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6. In the real world, Bobby Brown does the above reaction with 808 moles of H,.SO, and he only gets 501

VE moles of H,. What was Mr. Brown’s % ] R ; """" m ~ VUSE e
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7. If Mr. Brown tries the experiment again,
enough of the other reactants,
a. hich will t? the limiting, reactant?
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] o w many grams of KAI(SO,),=12H,0 will be his theoretical yield?
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c. If he only gets 208 g of KAI(SO,),"12H,0, what was his % yield? .
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8. Calculate the answer writing both number and correct UNIT.

(4 grams Zn) ( 3mLH, O\ / 5mLZn )
AR I Zn \ 2mLH, 0

7mLZn

2AIy+=2 KOH-:-?_ +4 HDSO%:.;' -2 B05—

9. In a perfect world, if you react 40.8 grams of Al in the above reaction how many moles of

KAI(SO4),=12H,0, will ygu get?
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10. In the real world you attempt the above reaction With 40.8 grams of Al and you only get 680. grams of
40-Buamamas of KAI(SC,)=12H,0 .
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/hat was your % yield?
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. List three things that might have caused your yield to be so low:
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11. If you try the above reaction again, using 3.00 grams of alumnnum and 16.5 grar{x§ of KOH and ore
than enough of the other reactants, AW P\\)\)m\\\\l\\l\ b ARV

a. which will be the hmmng reactant?”
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b. How many grams of KAI(SO,),=12H,0\will be your theoretical yield?**,
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c. Ifyouonlyget306g of KAI(SO4)2 2H20 what was your % yield?

*Strategy: Try converting grams of the first reactant into grams of product, Then do the same for the second reactant. The limiting
reactant will be whichever reactant gives the least product

**Strategy: Do a conversion, using the grams of your limiting reactant as the starting point and trymg to finish up in grams of your
product.




